
Spiel 1 Spiel 2 Gesamt

Spiel 016 15:26 B 1 BRANDSTETTER Karl 56 + 54 = 110 #

B 6 ASCHAUER Franz 53 + 52 = 105

Spiel 017 15:33 B 2 SEELIGER Lothar 39 + 46 = 85

B 5 KÖCK Ernst 37 + 50 = 87

Spiel 018 15:40 B 3 MÖRXBAUER Franz 49 + 53 = 102

B 4 STEINKELLNER Fritz 42 + 32 = 74

Spiel 019 15:47 B 1 BRANDSTETTER Karl 50 + 55 = 105

B 2 SEELIGER Lothar 33 + 49 = 82

Spiel 020 15:54 B 6 ASCHAUER Franz 49 + 50 = 99

B 4 STEINKELLNER Fritz 41 + 40 = 81 #

Spiel 021 16:00 B 5 KÖCK Ernst 36 + 50 = 86

B 3 MÖRXBAUER Franz 51 + 56 = 107

Spiel 022 16:07 B 2 SEELIGER Lothar 40 + 52 = 92

B 6 ASCHAUER Franz 50 + 60 = 110 # O

Spiel 023 16:14 B 3 MÖRXBAUER Franz 54 + 44 = 98

B 1 BRANDSTETTER Karl 56 + 51 = 107 #

Spiel 024 16:20 B 4 STEINKELLNER Fritz 55 + 52 = 107

B 5 KÖCK Ernst 39 + 39 = 78

Spiel 025 16:29 B 2 SEELIGER Lothar 40 + 36 = 76

B 3 MÖRXBAUER Franz 46 + 58 = 104 O

Spiel 026 16:35 B 6 ASCHAUER Franz 51 + 54 = 105

B 5 KÖCK Ernst 40 + 43 = 83

Spiel 027 16:42 B 1 BRANDSTETTER Karl 58 + 51 = 109

B 4 STEINKELLNER Fritz 56 + 57 = 113 #

Spiel 028 16:49 B 3 MÖRXBAUER Franz 46 + 55 = 101 O

B 6 ASCHAUER Franz 58 + 50 = 108 #

Spiel 029 16:56 B 4 STEINKELLNER Fritz 39 + 48 = 87

B 2 SEELIGER Lothar 28 + 32 = 60

Spiel 031 17:03 B 5 KÖCK Ernst 45 + 59 = 104

B 1 BRANDSTETTER Karl 54 + 63 = 117 # O


